2

=} [1/GeV7]
H
S

t,1
cdot
A
L

G‘—O‘IIU
T

|
(3]

1
Aot

107°

1077

Ratio to ATLAS

0.5

~t
1

13900 va PP

_| I T I | T I I |_ ﬂ
top o
= P_" (ATLAS ttbar) 33
— T =
— 1
o
- 10
| — <
Nl
= Ho
— k=
— —
— ™
— o
=
3 ER
= IEl%)
— =M
— — <
L B Nep)
L o
o
= B ATLAS =5
C --3-- ¢Herwig 7.2.1 default s
~ —A— Pythia 6.428 370 s
= —&— Pythia 8.308 default E=
- ¢ Sherpa 2.2.0 default — 8
| — 0
B -9
o
—— —] ©
= | | , | | | | | = =
:l I I I I l I I l:
= —2
1
| —0.5
| . A . ! . L
0 500 1000



	Contents
	Page 1


